35.8 fb (13 TeV) 35.8 fb (13 TeV)

ECMS  elutets « Data g% . FcMs et « Data
particle level Sys [ stat 3 o.16 E particle level Sys O stat
Stat E e Stat
i POwHEG P8 Hbg 0.14 £ i POwHEG P8
ok ¥ SHERPA CS 0121 ¥ SHERPA CS
== - POWHEG H++ E == - POWHEG H++
gl -.... MG5 P8 [FxFx] 0.1 ... MG5 P8 [FxFx]
0.08
e 0.06Fxn et
0.04
e E el
0.02—
g [ — E
2lg 11 2lg 11
g ¢ g F
= 1 = N
0.9F 09F
0 0 05 1 15 2 25 3 35 4 45
AR(b)
35.8 fb (13 TeV) 35.8 b (13 TeV)
,g"f ECMs  elutjess « Daa ,g"f 016CMS  elutjets « Daa
g particle level Sys [ stat g 014 s particle level Sys [ stat
E Stat g 0l4 Stat
‘_'bé' + POWHEG P8 ‘_'bg E + POWHEG P8
% SHERPA CS 0.12 E % SHERPA CS
=== POWHEG H++ 0.1F - - - POWHEG H++
o - MG5 P8 [FxFx] F oo ... MG5 P8 [FxFx]
0.08F ** e
0.06
0.04— e
0.02 —
B |
2|g 2|g E
8|8 8|8 105k 4 } +
= = 1;\.}. .-‘ﬁ-_‘}__-.;i
EEI =T
0.95F et
ook ‘ ‘ ‘ ""?"JF"
0 05 1 15 2 25 3 35 4 45
AR, 2)
%10 35.8 fb (13 TeV) %10 35.8 fb™ (13 TeV)
g ECMS  elutets « Data g% 18FCMs  elutess « Data
S particle level Sys [ stat S 16 E particle level Sys [ stat
E Stat £ E Stat
"'bé’ .‘.';.; =+ POWHEG P8 Hog = --t-- + POWHEG P8
% SHERPA CS E e % SHERPA CS
- % - == POWHEG H++ 12 | - == POWHEG H++
- MG5 P8 [FxFx] 10 E - MG5 P8 [FxFx]
CIS
6
4 !‘1nv.-vﬂ!"nﬁv'ﬂnv.w?!ﬂnv
2
> > E
Sls Sls
gs £s
= =
0 05 1 15 2 25 3 35 4 45 "0 05 1 15 2 25 3 35 4 45
AR() AR()
%107 35.8 fb™ (13 TeV) 35.8 fb™ (13 TeV)
5 o SCCcMs  eluvers « Data 5 ' 18FCMS  elutets « Data
3 = particle level Sys [ stat E] particle level Sys [ stat
£ 5 Stat 13 Stat
e £ i+ POWHEG P8 I b i+ POWHEG P8
o -- ¥ SHERPA (i‘s - t ¥ SHERPA (i‘s
E . - -~ POWHEG H++ "TF1T ---POWHEG H++
.- MG5 P8 [FxFx] "{ { ek - MG5 P8 [FxFx]
P
Sls
HE
=




